AMF H2EQIE A|Asio]
2453t 224

Al ArO1 2 2HH|o| 22417}

—%||_ (= NS) —‘—l o

=2
O|AHO| glELCh. 7|A ZBI7t 2cf 2115 L=|5H7|
flsiMe S| BE 7|H 0ldo] 458 2T ELICH
AMFO| 2158t £8/42 BITf AH 0| Crefet 2 et d

A=A, 2(19] 7|&Ho|| 2 —?474 UE L
UABE A5} A|AEID} AIR[EE 4 9l ZHOIBIAS

2I5tod, AMFe] Zf%if-é- 2 Ef’\°| M Z4,
Z|20o| Qo2 228 HE2, Blow-out, Blow off
=2
T

1. OPENING CONTROL

: |
: |
4
4
r
=

-1 20| #=3(2UY) dEfte?

A E9] Hi R (pneumatic back pres-
sure)2 APAH O 2 SH0lst0q, 2te)
222 E Sofl I|AEQ IXE T2
2S=

5 Locking control




57C

2 INTERNAL BLOW-OUT

S RS0k 3t M| 22 0|F

0| ALLR?

L& 37|18 ABSh= E20HR (Blow-
out)2 2E0He| 0|2 & HAastn

ESt et MME Salf 7132 (R
U2t MEE HEE(Support control)
s g 4+ UGt

_6 LA (Fixture) 2 E5l= ZI{UL HE

(Media Ducts)0| 2237122

3 CENTRAL LOCK

—

e — =

= -
(P g
C——

L,N

| S
_3 H2|9} Y S0| =0 FYUE[R| 2totof &

SHY AHE0| ZEO|M BEHUS T, 2
ok 22 22| (Central Lock)2 0|29 &

ACHELCH S AT ERs ES A
E{=(Protection Nipple)o| H&-2 ciLlg

A SlH)S dAasta, E£5
ol 7132 (A1) dAlst=
Z (Support control) 7|s=

t

4ANIPPLE SENSING

-
-
-

/

\WANNN

_4 2Mm AE{c0| AR (Fixture)o]] 1A
&[0 ALR?

25 ez S0{7t= AHEO0| oo A
845 (Stop Valve) 7t 2-SELICH 0|0f e
SYOILE RO HHE O, 2t AR =
O] &EfE ZA| gLt

8 ELECTRICAL SENSING

_8 20| &2|7{LH(Unclamping) &A

(Clamping) YLt2?
DE0 UEE 2 diMe 23 259
OAE AR[(ESHE Y SHY SHAMEN)E
2423t &

=T

SLICH

ol
A




2E ojZ2A0| 4 fISH 2[Ae| SUY 2F

K02 K5.3 K10 K10.3 K10.3 K10.3 K10.3 K10.3 K10.3 K20

Orderno. Orderno. Orderno. Orderno. Orderno. Orderno. Orderno. Orderno. Orderno. Orderno.
559089 558051 552963 559390 552967 559391 550257 550259 550261 428409

pneum. pneum. pneum. pneum. pneum. pneum. pneum. pneum. pneum. hydr.

Support diameter (mm] 22 78 78 112 112 112 112 112 : 112

Raised supports
with discharge und [ ]
support control

Pull-in/locking force

in the system [kN] 235N 1.5 8 10 10 10 10 10 10 20
Holding force* [kN] 6 13 25 25 25 25 25 25 25 55
Operating pressure for

pneum. opening 6-14 5-12 8-12 5-12 5-12 5-12 5-12 5-12 5-12

min. - max. [bar]

Operating pressure for

pneum. re-clamping. 5-6

min. - max.. [bar]

Operating pressure for

hydr. opening 60-70
min. - max. [bar]

Operating pressure for
hydr. re-clamping

min. - max. [bar]

Pneum. blow-out o o (] o ([ J (]
Pneum. support control o o o o [ ] ([
Pneum. locking control o o o [ J

Opening control pneum. o o o [ ] o

Hydr. locking control

Opening control hydr.

Pneum. Pull-stud
sensing o ®

Hydr. Pull-stud sensing

Sensor monitor opened o o o ([
Sensor monitor closed o o () o
Central lock [ ] ( ]

Central lock with pneum.
turbine blow-out

Central lock with pneum.
blow-out

* Please observe the installation instructions.



K20

Order no.
427161

hydr.

20

55

50-60

K20 K20
Orderno.  Orderno.
550279 552964
hydr. pneum.
112 112
20 17
55 55

8-12
5-6
60-70
()
o
()
o
o
o

K20.3 K20.3 K20.3 K20.3 K23 K40
Orderno.  Orderno. Orderno. Orderno. Orderno. Orderno.
552968 550258 550260 550262 420919 552965
pneum. pneum. pneum. pneum. hydr. pneum.
138 138 138 - - 148

[ J [ J
17 17 17 17 23 30
55 55 55 55 23 105
4.5-12.0 4.5-12.0 45-12.0 4.5-12.0 8-12
5-6
25-50
20
o (] (] ([ J
[ [ ] [ ] o
o o o
o o (]
([
o (]
(] ([ J
o ([ J
o
[ J

SPLC

Support diameter

[mm]
Raised supports
with discharge und
support control
Pull-in/locking force
inthe system [kN]
Holding force* [kN]

Operating pressure for
pneum. opening

min. - max. [bar]

Operating pressure for
pneum. re-clamping.

min. - max.. [bar]

Operating pressure for
hydr. opening

min. - max. [bar]

Operating pressure for
hydr. re-clamping

min. - max. [bar]

Pneum. blow-out

Pneum. support control

Pneum. locking control

Opening control pneum.

Hydr. locking control

Opening control hydr.

Pneum. Pull-stud sensing

Hydr. Pull-stud sensing

Sensor monitor opened

Sensor monitor closed

Central lock

Central lock with pneum.
turbine blow-out

Central lock with pneum.
blow-out

* Please observe the installation instructions.



\ AMF AH53t 224

08LA-XX-08

MU DE(XMY), S EFM
Al S x|

4 E20t2(Blow-Out)

3 (Opening)

- K10.3: #|[X 5bar - %/ 12 bar

- K20.3: %|X{ 4.5bar - Z|tH 12bar
A3t M2l (hardened)El 7t} T|AE
._%““'E <0.005 mm

24! Locking + opening control
24 Support control

|>
Ui
o

Z
'CD
T

)

3

> 0HOH 12
or

oo

Order Size Pull-in/locking force up to Holding force* Blow out Weight
ne: [kN] [kN] (K]
550257 | K10.3 10 25 [ J 14
550258 | K20.3 17 55| [ J 2.6
CIxfel

22 Blow-out, Support control, opeing control, locking control.

AN .

M O
HMZEQIE A3t 224 AJAH2 HA/HIHEA ZHOA MY (Set-up) A2 EH=S 2l AFZELICH

FI Ny

34 locking control : 23T siK| AEfe] ZEO= RA(SY)7t SED, SUL MEefo| IS0 HHAS

2 2SI,

34 opening control : 24 AEfo| HE0= RA(SY)7t SE0, SUL S| HEfQ| 20 HIZS
2 AX[ELch

Ol HIE2 3YS Dol ISt SHYO| siixl=l1, SeLts wiH Axol Fof sl AF=0] 2HY

3¢ 2tel2 ANER 227t 7hsEU. (F, 282 3 33810 SULHLICE)

LI
o
o0H
[t

n
lo

2

o
e
Ty
{r
rr
wv
=

)
i
n

*

Ee0eO
3
7
=

»D
DDN
<
T
L! 1
- ===
.
=1 .M
’ ®DI1
PLK
Dimensions:
Order Size dia.D dia. DN dia. D1 H HA dia. LK M T
no.
550257 | K10.3 112 22 78 35 10 88 6x M6 25
550258 | K20.3 138 32 102 49 15 115 8 x M6 34




AMF itS2t £8M

SPLC

08LA-XX-09

UL DE(KY), A5 &2

Z
'm
o

r=

3 202 (Blow-0ut)
£2¢2{(Opening)

- K10.3: £[X{ 5bar - Z|C 12 bar

- K20.3: £} 4.5bar - |t 12bar
Z3} X2l (hardened) s HHQt I|AE
HHEEUT <0.005 mm

4l Locking + Opening control
4! Support control

Al AEE MA(Pull-stud control)

20K Ok 1@

i}

>

il
o

0H

2

=

ko]
od
ko]
oH
ko]
od

INOX
STAINLESS STEEL

@

Order Size Pull-in/locking force up to Holding force* Blow out Weight
no: [kN] [kN] [Ke]
550259 | K10.3 10 25 [ ] 1.4
550260 | K20.3 17 55 [ ] 2.6
Cixtel

22 Blow-out, Support control, opeing control, locking control, 2E{ =414 (Pull-stud control)

HMZEQIE NSt 24 AJAH2 HA/H|IEA SHA MY (Set-up) A2 EH=S 2l AFZELICH

34 locking control : 23T siH| AEfe] ZEOE RN(SY)7I SED, SHL MEfE HiYo= K|

st|ct,

34 opening control : 2T AEfo| HE0= RA(SY)7t SE0, SUL oix| MEHE HIASE ZX|
o|'|_||:|-

A AEE MA(Pull-stud control) : AHE0| 4L X| g2 MEfol= RA(SY)7t SED, AHEQ]

HYUE MENE YO E AR

Ol ME2 3Ye Ooll 3ot 2ULO| sHA=1, SLS Wi Ax2ol o
Lch
S 2tel2 ARIEX| 227t 7hsuU. (B

[[¢]

I8 AE|=0| 2 &

>

SYY 50| 3 AARE= 67 Yuich
@®: 3¢ Open

®: 3Y(Blow-out & support control)
@ : 3L opening control

® : Hi7[(Vent)

®: 34 AHEMA (Pull-stud control)
: B4 locking control

HA HREE ESSHYAIR.
A
A‘lxl ED:'

@D
®DN
<
I
L‘ 1
: —_—
—
o —= | 7_M
®DI1
DLK
Dimensions:
Order Size dia.D dia. DN dia. D1 H HA dia. LK M T
no.
550259 | K10.3 112 22 78 35 10 88 6x M6 25
550260 | K20.3 138 32 102 49 15 115 8 x M6 34




AMELQR)

‘AMFI} ot EFEM

No.6108LA-XX-10

SA EEOI'_'_(BIOW-OUt)
AF2¢t2{(Opening)

- K10.3: £[X{ 5bar - Z|C 12 bar

- K20.3: £[X| 4.5bar - Z|CH 12bar

Z3} X2l (hardened)El HHQt I|AE
HHEEUT <0.005 mm

4! Locking + Opening control

fAl Support control(Blow-out & EH)
A AR E MA(Pull-stud control)

[icgixe]

ey
=]
hru
=]
b
=]

o

INOX
STAINLESS STEEL

Q
®

ASY 2UY DE(HY), A5 22
9|

Order Size Pull-in/locking force up to Holding force* Blow out Weight
ne: [kN] [kN] (K]
550261 | K10.3 10 25 [ J 14
550262 | K20.3 17 55| [ J 2.6
Cixkl:

&2 Blow-out@t EHS| Support controlS £2|, opeing control, locking control, AE{EMA (Pull-
stud control)

XN .
=1 O

HZEQIE RS2t &2 AIAHS HA/HITA BHOIM A (Set-up) AIZH EH5S 9IeH ASELICE

SN Y

-3—%’:5! lo}cking control : 2T siA| HEfe] ZE0 = FA(S )7t SE1, 2HL HEfo| S0 HIYS

2 ZX|shC

-3—%?: 'IoPelmfng control : 2T MEf| RE0= FM(SY)7t S 21, S SiH| Aefe| ZE0f LS
ZER| BT

z‘é‘?‘*—‘l*ﬂlg Ml& (Pull-stud control) : AE{E0| MUE|X| A2 HEf= SM(SY)7t S22, AHEO| &

ol AMEHE HjQto 2 ZEX|SHL|C}.
Support control: &3 &L= 2| E(Pallet) ol SY2=E ZX|ELICE

O ME2 e ol st SUTo| sixl=|n, IS whH ATO| glof| oM AEE0| SHE &
Lict.

= 2tol2 AMEX| 227t 7HsELICH (5, 282 3 328i0| EYHELICE)

2L 250 Y HARE= T YLk

@®: &Y Open

®: 3 (Blow-out & support control)

@ : 324 opening control

®:Hi7|(Vent)

®: 2LA A =M A (Pull-stud control)

@ : 34 suppot control

: 324 locking control

M| HREE ESHIAIR.

FAE:

AX =H

A
<
T
®D
®DN
A
T
= M

Dimensions:

Order Size dia.D dia. DN dia. D1 H HA dia. LK M T

no.

550261 | K10.3 112 22 78 35 10 88 6 x M6 25

550262 | K20.3 138 32 102 49 15 115 8 x M6 34




AMF xSt £8M

SPLC

N 0. 6 1 1 1 LA 10 0 1 Order Size Pull-in/locking force up to Holding force* Blow out Weight
JAEY IUY BE(KY), RS &2H, " [kN] [kN] [Ke]
SYFSBFAI(Central lock) 559390 | K10.3 10 25 ° 14
SeAl S sfx|
Zet4 22012 (Blow-Out) 8.
A3 (Opening) MEZOIE XH=3t 22 M A|ASS MAHH| A DM M (Set-up) AlZH EHES 9|3f At |ct
- K10.3: £|% 5bar - £|cf 12 bar FIE ArSs dewd Nds B2 °° (Set-up) A2t E15S #
Zst M2|(hardened)E FHHet T|A
HHEEAUE <0.005 mm -3 an |

324! locking control : 2 siix| ArE{ Q| EEOHE S MEE Yo R UXIF

STAINLESS STEEL

RAEY)F 220,
=2

AESE K| (Central lock) : ML ZE WHE HSEOZ YR ATYOZ LEEIL|CE,
AE{E(Pull-stud)2 DIN ISO 7H2E “:'(countersunk) Hz| LAt M8E 1 &[0 MX|ElL|CH
=Z0t2(Blow-out) 7|52 S8l support control : ZE3 FEE = T E(Pallet) ol SY2Z ZHX|E
Lict
O ME2 e @oll 2S5t SULO| sixl=|1, SYS wH Axo| slof| oM AR =0| S E
Lick
3¢ 2el2 AN ER 22|17t 7hsYLICH (B, 282 3 350l0| SHYRLICH)
2Yd 259 Y HAR = 74 Yuct
@®: 3¢ Open
3 : 3 (Blow-out & support control)
AR HREE EFSHEAR
FAE:
MR =H
@D
DN <
T
(8 )
\ T T
CREERI= ===
- ===
1T
[ M
D2
@D1
DLK
Dimensions:
Order Size dia.D | dia.DN | dia.D1 | dia.D2 H HA | dia.LK M T T1
no.
559390 | K10.3 112 22 78 25 40 10 88 6xM6 | 25 | 30




AMF X538} 24 AMEQ

N 0. 6 1 1 1 LA 10 05 Order Size Pull-in/locking force up to Holding force* Blow out Weight
AASH SUL DE(HLY), A5 &2, ne- kN] [kN] [Ke]
SYHI BRI (Central lock) 559391 | K10.3 10 25 ° 14
SYA S x|
e 22012 (Blow-Out) 8.
AtEef=(Opening) MZEOIE RFESH 22 M A|AHIS FAHH|EA ZHUM A (Set-up) A|ZF EHES AFREILIC
K10.3: 21 Sbar - £{cH 12 bar |ZHQIE XS5t £2M A|A”S HA/HIH | A (Set-up) AlZH THES 2USH A |Ch
Zst M2l (hardened)E FHHet TjA

SXUE <0.005 mm FI N

4| Locking + Opening control

Ol O T 0;

24l support control LTS EK|(Central lock) : E¥E 2E HRE BESE0R LR AT o=z LFEL|CL

AEE(Pull-stud)2 DIN ISO 7+2E A3 (countersunk) M2| LA} M8Z DE &[0 MX|ElL|Ct,
34! locking control : 2T diA| AEfe] ZE0E FA(SY)7t S22, SHE Aefo] ZSof Hiet
2 AX[eLC
24 opening control : 2T AEfe| DEE FHM(SY)7 SE1, U ofxl| AEfe] REof HiEO
2 AX[ELC
E202(Blow-out) 7|52 3l support control : 2E3 MEE|= L2 E(Pallet) ol SY2ZE ZXIEL|

STAINI:::;STEEL :

Ol HIE2 3YS Dol ISt SHLO| iid=|n, SLts wiH Axol Flof Qs AF=0| 2HY

@ L|Ct.
2ol atel2 oIHIER| a7t Hs el (5, RES 29 230l SULELICH)
® ® So| et AR 5If Lt

B
©) @: 3 Open
®: 3(Blow-out & support control)
—1 @ : ¢4 opening control
NE\Nv ® : Hi7[(Vent)
—_— : 324 locking control

MK B RS FASHUAIL.

SEAE:
Mx| =
@D
DN <
T
a )
SN = | =]
—
l}l
[ M
OD2
@DI
PLK
Dimensions:
Order Size | dia.D | dia.DN | dia.D1 | dia.D2 | H HA | dia. LK M T | T1
no.

559391 | K10.3 | 112 22 78 25 40 | 10 88 6xM6 | 25 | 30




Atz ol 2 W AE{E (pull-stud) HIA] AMER)

S A = (pull-stud) BH |
i

wetg e E(LLoll M AHE0| XKl XIS HOoFLIC
ro-point): && 7|EH S E&LICH

£3(Timing xr%§° xutsto 2ot 0|50| 7HsEhL|Ct,

A ALO| =(Undersize): Ei'.*ol gl =cly|sot Q&L C},

2
HZEQIE (Zer
S ):

oL M-

Zero-point pull-stud
Timing pull-stud
Undersize pull-stud

0| AS miolli= Ho| DX HiE E.”—IEF
3Pt ojLt: Y ES J|EH2 B




=1l
= 24 ol

T AR

SPLC

No0.6203ZN-02 order | Size dia. DN dia. D1 H H1 M T | Weight
K022 23 AE S (pull-stud) no- lg]
Fst 2| (hardened), 324 K022 E0] ALE 427302 | K02 10.0 7.14 17.5 15 M5 2.5 4
427328 | K02 10.0 7.14 17.5 15 M5 2.5 4
427344 | K02 9.95 7.14 17.5 15 M5 2.5 4
CIxfel:
INOX Order no. 427302 : HIZ ZQIE AF E(Zero-point pull-stud)
STAINLESS STEEL Order no. 427328 : 23! AE{E(Timing pull-stud)
Order no. 427344 : AL AfO| = AE{ = (Undersized pull-stud)
@DN
®DI1
M
Il
- VIl (;
UL
]
T T
Size dia. DN dia. D1 dia. D2 H H1 M T Weight
No.6370ZN-5 Order
) (8]
£ 3Asiol AR CE -
7de*°x? =e 1_(pu;l StUdE)I’:MGA - 306019 | K5 15.0 10 6 127 | 102 - 25 15
A5t 2| (hardened), K52t K5.32E0] AL 306035 | K5 15.0 0 6 127 102 N 25 15
306050 | K5 14.8 10 6 12.7 10.2 - 25 15
306076 | K5 14.8 - - - - M6 - 12
CIxtl:
INOX Order no. 306019 : MZXQIE AE{E(Zero-point pull-stud)
STAINLESS STEEL Order no. 306035 : &3 AE{E(Timing pull-stud)
Order no. 306050 : AL AFO|= AE{E(Undersized pull-stud)
Order no. 306076 : Z2E&|M AE{E(Protection pull-stud)
Size | dia.DN dia. D1 dia. D2 H H1 M T | Weight
No.6370ZN-5 Order
’ (gl
£ ZsHO| AF{C -
,Kff’xj harder 1d_(pugll Stu;);gfi o 554933 | K5 15.0 11 8 127 | 102 | - [ 25 [ 8
&%t M2l(hardened), K52 K532 801 A8 554934 | K5 15.0 11 8 127 | 102 - 25 8
554935 | K5 14.8 11 8 12.7 10.2 - 2.5 8
306076 | K5 14.8 - - - - M6 - 12
CIxtl:

INOX

Order no. 554933 :
Order no. 554934 :
Order no. 554935 :
Order no. 306076 :

H2EQIE AEE(Zero-point pull-stud)
&35! AHE(Timing pull-stud)

AL ALO| = AE{E(Undersized pull-stud)
D28 M AEE(Protection pull-stud)
®DN

»D1

P D2

DN

H1

|
|
1 T
|




No0.6370ZN-10 order | Size | dia.DN dia.Dl | dia.D2 H H1 M T | Weight
no.
K108 ™ AEE(pull-stud) , M8 gl
At A El(hardened), K102t K10.32E0] AtE 303610 K10 22.0 15 8 19 16 - 3 30
303636 K10 22.0 15 8 19 16 - 3 30
304519 K10 21.8 15 8 19 16 - 3 30
304535 K10 21.8 - - - - M8 - 30
CIx}el:
INOX Order no. 303610 : M| 2 X QIE AE{E(Zero-point pull-stud)
Order no. 303636 : &% AE{E(Timing pull-stud)
Order no. 304519 : 2G| At0| = AE{ = (Undersized pull-stud)
Order no. 304535 : Z2&|M AEE(Protection pull-stud)
&
&3 AHE(Timing pull-stud)2 E=o| T 20| A0 A HX|7t FhsFLICt
Size dia. DN dia. D1 dia. D2 H H1 M T | Weight
N0.6370ZN-10 orcer
’ (el
K10€ ST AHE(pull-stud) , M10
At 52| (hardened), K102} K10.3250] AFG 594936 | K10 | 220 L 10 I A S N
554937 K10 22.0 15 10 19 16 - 3 27
554938 K10 21.8 15 10 19 16 - 3 27
304535 K10 21.8 - - - - M8 - 30
CIx}Ql:
Order no. 554936 : M2 2| E AE{E(Zero-point pull-stud)
Order no. 554937 : 23! AE{E(Timing pull-stud)
Order no. 554938 : §IE{ A}O| = AE{E(Undersized pull-stud)
Order no. 304535 : =& AEE(Protection pull-stud)
Fign B
£33 AEE(Timing pull-stud)2 Ex 2| Tl 20| Lo A HX|7} 7HsEL|ct.
®DN
@DI1
D2
T T
Size dia. DN dia. D1 dia. D2 H H1 T Weight
N0.6370ZN-10 orcer
) (8]
K108 M 712 S¥I A E(pull-stud) , M8
2%t 2| (hardened), K109t K10.32.50] A8 130280 | K0 | 220 1 s S T -
430306 K10 22.0 15 8 19 16 3 30
CIx}Ql:

INOX
STAINLESS STEEL

o2y E£3H FEX2
Order no. 430280 : M2 X2/ E AE{E(Zero-point pull-stud) 244
Order no. 430306 : %! AE{=(Timing pull-stud) 21

N

- o

S AEE (pull-stud)E AZANMOZ &H LES £ USLICH

gk

£33l AEE(Timing pull-stud)2 Ex2| Tl 20| Lo A MX|7}t 7HsEL|ct.




gum AR

SPLC

No0.6370ZN-20 order | Size | dia.DN dia.D1 | dia.D2 H H1 M T | Weight
K208 2% AE S (pull-stud) , M12 ne- lg]
A3t Mzl (hardened), K202+ K20.32 E0f| At 303149 | K20 32.0 25 12 28 23 - 5 110
303156 K20 32.0 25 12 28 23 - 5 110
303164 K20 31.8 25 12 28 23 - 5 110
303172 K20 318 - - - - M8 - 110
CIxtQl
INOX Order no. 303149 : M 2XQIE AE{E(Zero-point pull-stud)
STAINLESS STEEL Order no. 303156 : 3! AE{E(Timing pull-stud)
Order no. 303164 : 2L At0| = AE{=(Undersized pull-stud)
Order no. 303172 : Z2EIM AE{E(Protection pull-stud)
SNk
&3l AEE(Timing pull-stud)2 22| Bl 20| U0| &A Mx|7} 7HsEL|C,
Size dia. DN dia. D1 dia. D2 H H1 M T | Weight
N0.6370ZN-20 orcer
’ [e]
£ 3aim AFC -
ﬁox al(hard di_(pl;“ StUd)E’:h:ilf N 554930 | K20 | 320 25 16 8 | 23 - 5 | 85
&St X2l (hardened), K202t K20.3= 501 A8 554940 | K20 32,0 25 16 28 23 - 5 85
554941 K20 31.8 25 16 28 23 - 5 85
303172 K20 31.8 - - - - M8 - 110
CIxpl
INOX Order no. 554939 : M ZXQIE AF{ =(Zero-point pull-stud)
STAINLESS STEEL Order no. 554940 : 23! AE{E(Timing pull-stud)
Order no. 554941 : A AtO| = AE{ = (Undersized pull-stud)
Order no. 303172 : Z2&|M AEE (Protection pull-stud)
II' aql:
Z38! AE{E(Timing pull-stud)2 Ex2| T 20| Lof &AH| MX|7} 7HsEh|ct.
DN
®DI
@D2
|
- [
T l =
|
1
Size dia. DN dia. D1 dia. D2 H H1 T Weight
No0.6370ZN-20 orcer
’ (gl
£ 3aiml AFC -
Qox :h‘:"z di_(pugll StUd)E’:h:ilf o 430322 | K20 32.0 25 12 28 23 5 110
&%t X2l (hardened), K202t K20.3= 501 AF8 430348 | K20 320 25 1 28 23 5 110
CIxfel:

INOX

Lot d 28 FEN2
Order no. 430322 : M 2ZQIE AE{E(Zero-point pull-stud) 244
Order no. 430348 : £3 AE{E(Timing pull-stud) Z& M

AHE (pull-stud)E AlZ

_‘T'_
':7
3
S
(]
ke]
c
UT
23
c
e
I'IO




No.6370ZN-40 order | Size | dia.DN dia.D1 | dia.D2 H H1 M T | Weight
no.
K408 2 AEHE(pull-stud) , M16 gl
ot K2l (hardened), K40 2501 AFS 303180 | K40 40.0 25 16 34 | 2 - 5 | 180
303198 K40 40.0 25 16 34 29 - 5 180
303206 K40 39.8 25 16 34 29 - 5 180
303214 K40 39.8 - - - - M8 - 180
ox C|xtol:
STAINLESS STEEL .
Order no. 303180 : M2 X QIE AE{E(Zero-point pull-stud)
Order no. 303198 : £3! AHE(Timing pull-stud)
Order no. 303206 : 2L At0| = AE{ E(Undersized pull-stud)
p - Order no. 303214 : Z2&|M AEE(Protection pull-stud)
N g ﬁ & o
),\ ol &8 AE|E(Timing pull-stud)2 Hxo| T 20| L0 A MX|7} 75|t
Size dia. DN dia. D1 dia. D2 H H1 M T | Weight
N0.6370ZN-40 orcer
’ (el
K402 28T AEE(pull-stud) , M18
#3t K2 (hardened), K40 S0 AR 554942 K40 40.0 30 18 34 29 - 5 170
554943 K40 40.0 30 18 34 29 - 5 170
554944 K40 39.8 30 18 34 29 - 5 170
303214 K40 39.8 - - - - M8 - 180
CIx}eL:
INOX Order no. 554942 : M2 XQIE AE{E(Zero-point pull-stud)
STAINLESS STEEL Order no. 554943 : 23! AE{=(Timing pull-stud)
Order no. 554944 : AAE{ AO| = AE{E(Undersized pull-stud)
Order no. 303214 : Z2&|M AEE(Protection pull-stud)
&sd, el
N 5 4 &3 AHE(Timing pull-stud)2 Bz 2| T 20| Qlof & MX|7t 7tsEL|ch
)o‘ »! @DN
[ )
e = ¢D2
|
- I
T ‘ / T
i
\
Size Holding force L L1 M SW TORX Weight
No0.6370ZNS-001 orcer
" ( ) ’ (kN] (8]
HZ& 23R (Engagement screw
2EZE 129 306092 K5 8.5 25 3.4 M6 5 - 10
554926 K5 13.0 29 3.4 M8 - T30 13
303578 K10 17.0 37 6.0 M8 6 - 25
554927 K10 25.0 41 6.0 M10 - T45 32
303222 K20 43.0 54 9.0 M12 8 - 70
554928 K20 55.0 63 9.5 M16 - T60 125
303230 K40 75.0 69 10.0 M16 14 - 130
554929 K40 105.0 73 11.0 M18 - T70 195
A

CHeroh Zo|et A MEL M3 7tsLch
(0ll: High-grade stainless steel)

L




AEE (pull-stud), HIZ A3 F(Engagement screw) 8 X| x|

SPLC

AEE(pull-stud),

H&# A37(Engagement screw) & X[ x| Size @D1 oM s1 s2
K02 7.17 M5 36 14

K5 10.00 M6 2.8 12

K5 11.00 M8 28 17

@100 K10 15.00 M8 35 16

o K10 15.00 M10 35 20

K20 25.00 M12 55 3

K20 25.00 M16 55 2

K40 25.00 M16 55 30

K40 30.00 M18 55 35

S1

S2




No.6370ZNSN order | SiZe dia. DN dia. D2 H1 Weight
- . no.
B33 AEE(Compensation pull-stud) (el
32t M2|(hardened) 340059 | K10 218 120 16 25
305912 | K20 31.8 15.5 23 80
426882 | K40 39.8 20.0 29 160
Fign g
ox 2EY AHES XydSoR AR EA SxL
STAINLESS STEEL AEE(pull-stud) ALO| 7{2|3ktet 2= SAHE EHst7| s AF2EL|Ct
ol ol Bl(Hek)2 AIX[stR Lk
@DN
- |
|
7/ I
|
P D2
Size | Holdingforce | dia.D2 L L1 L2 L3 M SW | Weight
No.6370ZNSSN Order
: [kN] gl
Eg:‘é ﬁlsigE% H2 237 (Engagement 340034 | K10 10 110 | 35| 6 | 161 | 129 | M8 | 6 24
SRS AEIE (6370ZNSN)0ll AR ELICH, 305938 | K20 20 135 | 50 | 9 | 231 | 179 | M10 | 10 55
426908 | K40 30 170 | 59 | 10 | 29.1 | 199 | M12 | 12 | 100
L1
L2 L3
a
L
Size | dia.DN | dia.D1 | dia.D2 | dia.D3 | dia.LK | H | H2 | H1 | T | Weight
N0.6102ZN orcer
) gl
a4 (high-end) SAY 28 E{ES 2B 426502 | K23 32.0 25 68 6.4 50 |38 |23| 105 370
(Pull-stud) - -
426528 | K23 32.0 25 68 6.4 50 | 38|23 105 370
|1z (high-end) 3% 2 & E{%l no.6102H 2t
Sl AHEElLIC. 426544 | K23 31.8 25 68 6.4 50 | 38|23 |10 5| 370
A5} X2/ (hardened) C|Xtol:

Order no. 426502 : M2 X2 E AE{E(Zero-point pull-stud)
Order no. 426528 : 5! AEHE(Timing pull-stud)
Order no. 426544 : AL AO| = AE{E(Undersized pull-stud)

D2
D3 D1

H2

H1

@DN
DLK




=3% AEE 5PLC

NO.637OZN M Order Size Holding force M Sw H Weight
- no.
L E%(Nut) AEE(pull-stud) [kN] gl
EEZE10 429969 | K5 8.5 M6 10 6 3
N0.6370ZN SHZ AE{ = (pull-stud '
XS 1=(pull-stud)of 429985 | K10 17.0 M8 14 8 8
430009 | K20 43.0 M12 21 14 26
430025 | K40 75.0 M16 28 17 50
x 2.
-1 O

HE™(Nut) 2B = (pull-stud)2 A E(pull-stud) 2 HIZ 237 (No.6370ZNSSN)0| Ot &tk Z2E}
HZe wf Arg et

g

HE™(Nut) 2B = (pull-stud)2 2B = (pull-stud) 2t WA Z HEHAA 2ES E7] floi EAE 712 of

TS Sx|0|x| Q=2 efofBHLIt,
@®: HEH(Nut) 2E{ E(pull-stud)
\E\ ._) r’/ @: AHE (pull-stud)

®: s2ME| EE

v r -™M
@& >
|

Size Holding force L L1 M SwW Weight

N0.6370ZNS-002 orter

AT = . [kN] [e]
A N EEPNEE]

C 8(Horizontal) M2 237 303248 | K20 20 56 105 M12 8 100
( ngagement screw) 303255 | K40 45 73 13.0 M16 10 200

EAE 129 "

QHALSH

243 (Horizontal) M2 233 (Engagement screw)= Ctst Zo|et HE S| XE X MS 7tsELICH
(ofl: stainless steel)

L1




	1
	stud



